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COnstltutlon of Indian, Professu)nal Ethics and Cyber Law
(COMMON TO ALL'BRANCHES)

Time: 2 hrs.] o [Max Marks: 100

1.  Answer all the hundred questlons each question carries ONE mark.

2.  Use only Black ball p(nnt pen for writing / darkemng the circles.

3. For each question, after selecting your answer, darken the appropriate circle
corresponding to the same question number on the OMR sheet.

4. Darkemng two circles for the same questlon makes the answer invalid.

5. Damaging/overwriting, using ‘whiteners on the. OMR sheets are strictly

prohibited.

1. The constitution of Indla was enacted by a constltutron assembly set up,
a) Union Cabinet mission plan 1946. .
b) Under Indian Independence Act 1947

¢) Under resolution of provincial government
d) By Indian Natlonal Congress.

2. On December 11, 1946 the Constituent Assembly elected as its
permanent chairman
a) Jawaharlal Nehru ' b) Dr/ Rajendra prasad
c) Dr.B.R. Ambedkar d) K. M. Munshi
3. .The drafting comrmttee of the constitution including the chairman comprised of,
a) 7 members . b) 9 members
¢) 11 members: d) 5 members
4.  The constitution of India is, -
a) Rigid = X b) Flexible
¢) Partly rigid partly ﬂexrble """ d) Very very rigid

3. The preamble of const1tut10n declares India to be,
a) Sovereign democratic republic
b) Socialist democratic republic
¢) Sovereign, Socialist, Secular democratic and Republic
d) None of these
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In which case did the supreme court give a ruling preamble Wa%zpart of the constitution.
a) Berubari case b) Golaknath case
¢) Keshavananda Bharathi case d) None of these

What is the chief source of political powers in the éounfry?
a) The constitution ~b) The people
¢) The legislature “d) The parliament

The original constitution classified. The “Fundamental Rights” into“seven categories but
now there are. N gy

a) 4 categories @ b) 5 categories

c) 6 categories d) 7 categories

Which one of the fo110wing@’fﬁﬁuid§mental Right was described by Dr.B.R. Ambedkar as
“the heart and soul of constitution”. ’
a) Right to Equality ./

b) Right to constitutional Remedies
¢) Right to Freedom

d) Right to Religion

The main objective of cultural and educational right granted to the citizens is,
a) To preserve rich cutlture and heritage of India.

b) To evolve single integrated Indian culture

¢) To help minorities to conserve their culture.

d) All the above

For énﬁt’préement of fundamental Right the court can 1ssue,

a) A Decree B b) An ordinance
c) A writ ‘ g d) A notification
Which of the following literally means you gnay have the body,
a) A Mandomus ) _b) Habeaus corpus

¢) Prohibition T d) Quo-warranto

“Bqual work for equal pay” isa .

a) Fundamental Right ' b) Directive ’principle

c) Fundgrpental duty d)‘ﬁS'f"ta“tutory provision is labour law

'''''

73 and 74" amendment is t)é;téining to ,
a) Stalehood of Goa ..~ . b) Extention of reservation to SC and ST

.©) Local self government . iy d) Land reforms

a) The resources available with the
b) The president ‘
¢) The Court

d) Chief justice of India

.Government

Common Civil code means
a) Common civil procedure code b) Common civil law applicable to all
¢) Civil law applicable to common man d) None of the above

The concept of DPSP is borrowed from the constitution of,
a) Ireland b) Russia
¢) Great Britain d) USA
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The constitution of India adopted fundamental duty from,

a) America b) Russia ¢) Ireland d) Britain

Fundamental duties did not form to be original part of Indlan constitution they were added
under amendment.

a) 42" Amendment Act b) 44% Amendment Act
¢) 86™ Amendment Act .d) None of these

At present how many “Fundamental duties” are their in the constitutien, of India.
a) 6 duties b) 8 duties ¢) 10 duties d).11 duties

Article 370 which gave special Status to Jammu and Kashmlr existed in the Indian
constitution because of the agreement between,
a) Jawaharlal and Farukh Abdullah b) Jawaharlal-and Maharaja Hari sing

¢) Vallabh bhai Patel and Maharaj Harising d) Mohamnied Ali Jinnah and J.L.Nehru

Which is the Indian constttutlon day? iy,

a) Jan-26 b) August-15 c) November 26  d) April-20

Legislate means, -~ ?

a) Make law © " b) Make constitutional amendment

¢) Form government " d) Put administrative machinery into action

The Parhamentary form of government in Indla is based on,

a) Great Britain b) Japan c) Russia., d) France
What is the system used to elect the president of Indla?

a) Preferential system b) Secret Ballot )

¢) Direct election " k d) Proportional representatwn

Who discharge the duty of the pre51dent 1n the event of pre31dent and vice president being
not available? ‘
a) The prime minister f b) The chief justice of India
¢) The speaker of lok sabha N d) Vlce pre51dent

i

Who represents the nation but does not rule the natl 7
a) President b) Attorney general  c¢) Chief Justice of India  d) Vice President

Which one of the following house is presided by a non member?
a)ﬂ,»;Rajya Sabha b) Lok Sabha c). Vldhana Sabha d) Vidhana parishad

. Respite means,

a) Painless death b) Death due to drowning
¢) Due to stragulatlon — d) awarding lesser punishment

The total number of union council of minister including the prime minister shall not
exceed.

a) 10% of loksabha strength b) 15% of loksabha strength

¢) 18% of loksabha strength d) no such restriction
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Uni-Cameral means,
a) Presence of no house in the state b) Presence of one house in the state
¢) Presence of two house in the state d) Present of half house in the state

The age qualification for becoming the member of Rajya Sabha and Lok Sabha is,

a) 25 yrs and 30 yrs b) 30'yrs and 25 yrs

¢) 35 yrsand 30 yrs d)30 yrs and 40 yrs

The state legislative Assembly is proro guéd?l;y,

a) Governor . D) Chief minister

¢) Speaker of assembly " d) Chief justice of High court

Which of the following statement is not correct?

a) Money bill cannot be introduced in legislative council

b) The money bill is presented by chief minister of the state

¢) The legislative council has no right to change the money bill
d) All of the above .. 4

Power of the suprgmé court to decide the dispute between the centre and the state fall
under its, P

a) Constitutional jurisdiction " b) Appellate jurisdiction

¢) Advisory jurisdiction ~ d) Original jurisdiction

The High goilrt judge unless resign eaﬂier retire at the age of,
a) 58 years ;, b) 60 years
c) 62 years d) 65 years

A bill presented in the parliament becomes law.

a) If passed by both the-houses . wb) The prime minister has signed it
¢) The supreme courtuhés decided or declared it. d) When the president gives his assent

The judges of Sﬁpreme Court after retirement are not,péﬁnitted to carry on practice
before. By, Ry, X

a) Supreme Court of India N b) High Court
¢) District and Session Court - : d) Any:f’of these
One third of Rajya Sabha,m’eﬁlber retires,
a) Every year . b) Every two year
.0 Every three years ©  » “. d) Every four years.
Which among fgﬂé&iﬂg is not a standing‘”éommittee?
" a) Public Committee « b) Ethics Committee
¢) Railway ggnvention Committee d) Business advisory Committee

Election to the local self govemmeht is conducted by,
a) State Election Commission b) Regional EC
¢) Election commission d) Governor

The citizens of Indiaywh\ave got a right to cast his vote after attaining the age of
years.

a) 16 years b) 18 years c) 21 years d) 24 years

W s
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Election to Loksabha and Legislative Assembly in India are conducted on the basis of,

a) Single transferable vote b) Proportional representation

c) Limited Suffarage d) Audult franchise

The Election Commissioner hold office till,

a) For 5 years b) For 6 years

¢) During the pleasure of president d) 6 years or 65 years whichever is early

This is not a ground to declare National Emergency.
a) Internal disturbance b) War
c) External agression «  d)Armed rebellion »

How many times has a Natlonal Emergency has been declared S0 far?
a) Once ¢) Thrice ¥ d) Never

Break down of constituti na machinery in a state is popularly known as,
a) State Emergency M b) National Emergency
c) Financial Emergency" d) All of these

When National Emergency declared, the following Fundamental Right is suspended.
a) Right to Equality (Art 14) " b) Title (Art 18)
¢) Right to Freedom (Art 19) d) Right to life (Art 21)

Which type ‘of emergency has not yet declared till now?
a) Natronal Emergency . b) State: Emergency
¢) Financial Emergency d) None of these

Who is considered to be a ' Vulnerable group?
a) Women and Children b) SCs
c) STs d) All of these

uovernor from Anglo Indian

How many members will be nomrnated by President
community? .
a) 2/1
&) 37 2

i

Seats for SCs and STs are 10 reserved in,
a) Lok Sabha ' b) Legislative Assembly

«._d) Allof these

: Whrch of the Constrtutronal amendment reduced the voting right from 21 years to 18

years? r
a) 54" Amendment b) 36™ Amendment
¢) 62" Amendment - d) 61* Amendment

Which of the following amendment Act makes the Right to education as the fundamental
right to all the chﬂdren under the age of 6 to 14 years by inserting Art 21A to the
constitution.

a) 86™ Amendment Act 2002 b) 87" Amendment Act 2003

¢) 88™ Amendment Act 2003 d) 89™ Amendment Act 2003
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Which of the following amendment was passed during the emergency?

a) 42" Amendment Act b) 44™ Amendment Act
¢) 47" Amendment Act d) 50th Amendment Act

In how many ways the constitutional amendments in Indla can take place?
a) 2 b) 3 o) 4 d)5

The 7% Amendment of Indian constltutlon was done to 1mp1ement recommendations of
state on the basis of,
a) linguistic b) Religion r c) Population d) All of these

Which constitutional Amendment 18 done to pass the GST bill?
a) 101* b) 120 72 ) 122 Amy,  d) jish

The Ninety fourth Amendment of the constitution of India made provision for the
appointment of mmlster in charge of tribal welfare in the state of,

a) Bihar N b) Chattisgarh and Jarkhand
¢) Madya Pradesh d) All the above

The 10" Amendment of the constitution of India Act 1961 incorporated as
seventh union territory of India. .

a) Dadar & Nagar Haveli " b)Daman & Diu

c) Andaman & Nicobar . d)None of these
Engmeermg ethics is, il by

a) Scientifically developed ethlcs ’ b) Preventive ethics

¢) Developing ethics : d) Natural ethics

A Fault tree is used to,.. '

a) Improve safety . _b) Take free consent

¢) Claim compensatlon " d) Assess the rlsk involved

,,,,,

a) It demands hard work - b) It is based on honesty

c) Itis havmg taught competatlon d) usually its is having monopoly
One of nnpedlment to responsxblhty 1s, i
a) Rampant corruption at higher level b) Self defection

’ c) Interference by hlgher officers . d) Interference by politicians

‘r Good work means,
- a) Superior work done with great care and skill

ttttttt

b) Work above and beyond the call of duty.
c) Respon51ble work
d) Work' 1nvolvmg high risk

“Egocentric tendencies™ means
a) Interpreting situation from limited view  b) Superior complex
¢) Arrogant and irresponsible behaviour d) habit of condemning the view of other
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Tight couple means,

a) Erecting two pillars side by side b) binding two'beam tightly
¢) Process tightly coupled d) strong qgihesive material
Lying is, '

a) intentionally conveying false or mlsleadmg mformatlon
b) decepton .

c¢) False hood
d) None of these

Trimming is,
a) Smoothing of irregularities to ‘make the data appear accurate and precise
b) Retaining the entire data
c¢) Consolidating the data
d) None of these

As applies to responsibility avoiding blame or belng safe is the pnme concern in,

a) Minimalistic approach b) Considerable view
c¢) Good work view - d) Resonable care view

A

It 1s not a kind of trade mark. |y

b) designs
“ d) sounds
Conflicts of interest may be,
a) potential b) false
c) created d) 1mag1nary

The owner of patent right retains his patent rlght for
a) 20 b) 50 %,6) 75

prgteé:cs the expression of tthe)fzideas but not the ideas themselves is,
a) Plagiarism.. ~  b)Patent = c) Copy rlght d) Trade mark

Risk estimation can be done by, .
a) Cooking b) Trimming c) :E'vent tree d) None of these

A compound measure of the probability and magnitude of adverse effect is known as,
a) benefit mgDRIsk ¢) accident d) compensation

The formula for

TR ‘sambar masala is example of,

' a) Patent b) Copyright . = ¢) Trade mark d) Trade secret
Purpose of professmnal code is to,
a) Guide themselves i b) Educate the members
c¢) Discipline the members d) All of these

What does NSPE stand:
a)National science professional engineers b) National society of professional engineers
c)National science personal ethics d) National society of professional educator

The obligation and prerogatives associated with a specific role is referred to as,
a) duty b) responsibility ¢) role morality d) none of these
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The first publicity available internet service in India was 1au11;§hed by on 15"
August 1995. N

a) Bharath Sanchar Nigam limited b) Videsh Sanchar Nigam limited

¢) Indian Institute of technology d) None }Of these

Which is the Act which provides legal frame work for e-Governance in India?

a) Indian Penal Code #.b) IT (amendment) Act 2008

¢) IT Act 2000 _+_d) None of these

Which of the following is an example ef Intéllectual property? . 3
a) Trade mark b) Copy right c¢) Patent “ d) All of the these

Which is the appeal court on thefofde“rs issued by cyber appeéiate tribunal?
a) Munciff court b) District court c) High court: d) Supreme court

What are the types of cyber terror capability?

a) Simple unstructured -

b) Simple unstructured and Advanced structured

¢) Complex co-ordinated

d) Simple uns‘gm;,{ ured, Advanced structured, Complex co-ordinated

The mechanism for establishing net neﬁtf%ﬂify in India are at present mainly enforced by
the, %, ) ;
a) Telecom Regulatory Authority of India (TRAI)
b) Bharatiya Sanchar Nigam Ltd. (BSNL)

¢) Videshi Sanchar Nigam Ltd. (VSNL)

d) All the above ¢

An attempt to harm daqiagé”br cause threat to a sgistem or network 1s broadly termed as,
a) Cyber crime b) System hijacking ©  .c) Cyber attack ~ d) Digital crime

Criminal minded-individuals who work for terrorist organization and stean information if
nation are, A

a) State sponspokred hackers b) Cyber terrorist
¢) Blue hat hackers D d) White hat hackers
Cybe"‘r..%crifnes can be classiﬁ‘e':“dz,into,
a) 2 b3 c) 4 d)5
What is the updated version of IT Act 2000?
“a) IT Act 2007 . b)IT Act 2008
" ¢) Advanced IT Act 2002 " d) Advanced IT Act 2001
TRAI has guied%"in favour of, ,
a) Net neut{zglity b) Airtel zero ¢) Free basics d) None of the these

Which of the following isnot a type of cyber crime,
a) Data theft v b) Forgery
¢) Damage to Data and System d) Installing antivirus for protection

,,,,,,

The imaginary {ocation where the word of the parties meet in conversation is referred to
as,
a) cyber space b) Cyber net ¢) Space d) Cyber dyne
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Nitizen means,
a) A person who is citizen of a country b) A persor
¢) A person who uses internet d) None oft]

vho has dual citizenship

What is the punishment for hacking of computers?, »«
a) Three years imprisonment or 10 lac rupees or both
b) Life imprisonment gy,

c) Three lac rupees or 3 years imprisonment« -
d) Three years imprisonment or 5 lac rupees penalty or both

What is the proposed punishment for cyber Terrorism in IT Act? -
a) 1 crore rupees penalty . ‘ b) Life imprisonment
¢) 10 years imprisonment d) 6 years ';‘nﬁrisonment

What is the term of office df%hg presiding officer of cyber appellate tribunal?

a) 3 years b) 4 years c) 5 years d) 6 years
What is the full form of ITA 20007

a) Information tech wac’tv'2000 b) Indian technology act 2000

c) International,t,e"chhology act 2000 . d) Information technology Act 2000
The first computger virus is, vl

a) I love you . b) Blaster . c) Sasser d) Creeper
Who i‘i:s,ugually against net neutra:li’fy,‘

a) Content providers ' b) Consumers / end users

c) telecom companies ¢ ' d) All of these

% % k %k
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